Questions

Q1.

Diagram NOT
accurately drawn

£ #gs < 0o (vertope c5)

Z a6 = 90° (e ia
Sml.'é\f:«“

Z AcS < ég’ (c Sum cfd)

Z RBgc = &O°

. . . £s om ~ c4r Line
A, B, C and D are points on the circumference of a circle, centre O. ( ° )

AC is a diameter of the circle. .
AC and BD intersect at E. L EBC = 3¢

C l Son. ,.—@'—4)
Angle CAB = 25°

Angle DEC = 100°

Work out the size of angle DAC.
You must show all your working.
( ¢s

(Total for question = 4 marks)

Q2.



Diagram NOT

accurately drawn

£afc = LoAc=490"°
Cradis - é’t«-sz_‘ff—)

c ¢ 8oc = SGE
(450« ,4(34)
oac = S(°

% (3-3-\&-4.4""\1) (‘”‘lsJ‘UC.,L a‘-)

A, Band Dare points on the circumference of a circle, centre O.
BODis a diameter of the circle.

BCand ACare tangents to the circle. o
Angle OCB= 34°, Z ’D 0A =~ (3B

Work out the size of angle DOA. < LS 6w A& 5»(’1- (:n.g)

(Total for Question is 3 marks)

Q3.



Diagram NOT

accurately drawn

s ¢ ore = q0" (& redic)

—

L Tor =58 (2 som o€a)

L SOT‘S lz_z_’ (<$ oa s'('( (c.»a..)

X = [(Ro -2 1SeS &

2

. . . o
Sand Tare points on the circumference of a circle, centre O. Y. = 29

PTis a tangent to the circle. -
SOPis a straight line.
Angle OPT= 32°

Work out the size of the angle marked x.
Give reasons for your answer.

(Total for Question is 5 marks)

Q4.



Diagram NOT
accurately drawn

£Pto= L PSo = 40°
(&4t - cndis)
L8P0 = 247 Symachs
(or coﬂ3:u¢_l As)

. #SeT = Yo ~46-40—4¢ 2

S and T are points on the circumference of a circle, centre O.

PT and PS are tangents.
Angle TPO = 24°.

Work out the size of angle SOT.

Q5.

2 ST = 132°

(Total for Question is 3 marks)



Diagram NOT
accurately drawn

Zogs = 4o°
(Gﬁ&- f‘t..o‘laj

L AST = 9o°

<Cafrcg{>m/‘:.—lj q.\(‘[g_} >

ABis a diameter of a circle centre O.

The point Ris on the circumference of the circle.
RSTis the tangent to the circle at R.
ASis parallel to OR.

Prove that the size of angle AST is 90°.

(Total for Question is 3 marks)



Q6.

Z Ado = LABS = 96°
C é’bk -—/'A,J:u\') Dhc

£ 308 (rminen) = | 40° 7o Diagram NOT
C £ ) accurately drawn
L Sum s q/g.,.l
L Veg =70

Z Do Ch-w.joa) = 2206

- (§° C{ ab el iy
£o6e = Euite ¢ af c'cr-c_)

(s onc %7 lu-'»e)

A B E

B, C and D are points on the circumference of a circle, centre O.
ABE and ADF are tangents to the circle. , 0ne < JCo— 220 —(C -0

Angle DAB = 40° o
Angle CBE = 75° Z Ode = §¢

Work out the size of angle ODC. < . Su~ ok iu%«( )

(Total for Question is 3 marks)

Z RAdo = §0°
(‘5'54— reAun)

2. AOD = 50 _
Diagram NOT
(¢ som ok 4) accurately drawn

Q7.

o

L Bob ~ejor T 3’6

()

26y = IS¢

(c. at Cenhe
&t ¢ ot Cc/t.)

D

*B, C and D are points on the circumference of a circle, centre O.



ABO is a straight line.
AD is the tangent at D to the circle.
Angle DAO = 40°

Work out the size of angle BCD.
Give a reason for each stage of your working.

(Total for question = 5 marks)

Q8.

Diagram NOT
accurately drawn

Z. BAYM -q¢°

(c)«( s g—(' Cag(lg llug,,(
GhAA La 180

sc = 180 -9Y - 24

QS

x = S¢°

In the diagram,
(cs on a gFr l\'..¢)

the points A, B, C and D are on the circumference of a circle
the line PAQ is a tangent to the circle

angle DAQ = 29°

angle BCD = 85°

Work out the size of the angle marked x.
Give a reason for each stage of your working.

(Total for question = 3 marks)

Q9.



Ok

°o Diagram NOT
L Aol € 134 accurately drawn

CC— ﬁk C“-\L\'(. o

fuia < 4," Cch) Z ABc = [(3

2€ T SLO—C\)'Sq- (OP( S ok Cje.la.c Zdt‘A)
- ZZQ B b D (V)
x -— 226
<4. a 'e C(‘-\_L-O_ -é-v(“GQ
< ad c(rq_)
C

A, B, C and D are points on the circumference of a circle, centre O.
Angle ADC = 67°

Find the size of the angle marked x.

(Total for question = 2 marks)

Z AD0 = ¢ ABo = 4¢6°
(gt —redios)

Q10. Z Do = 130°
) ( ¢ Su~ o+ 7,«0‘)

Vv Z ey :Q(a

(4 e & C—c.-c\k_ s ‘('.‘wtg_e
L ok C.\r(,)

130

50°
A B

Diagram NOT accurately drawn

B, C and D are points on the circumference of a circle, centre O.
AB and AD are tangents to the circle.



Angle DAB = 50°

Work out the size of angle BCD.
Give a reason for each stage in your working.

(Total for Question is 4 marks)

Q11.

Diagram NOT
accurately drawn

, Adc = 9

=

.

’ c (2 ol celbg £vice

C o & C_G-/'b)

Z RBC = IQp - 4
A R =

(o(( s of C:lcl'}' 1/,_,4,_‘,(

A, B, C and D are points on the circumference of a circle, centre O.
Angle AOC =y.

Find the size of angle ABC in terms of y.



Give a reason for each stage of your working.

(Total for Question is 4 marks)

Q1l12.

\_j Diagram NOT
/ accurately drawn
/

| 2 Pse = 42°
| 7[ 'I (fl*b-(- l‘ﬂ.-A\uS)

/ L Prs = 42°

i / (ol Seg 6k¢af-e_-.,>
/ Z S¢n = 180 -42

R S T Z._

P, M and S are points on a circle, centre O. _ s
RST is a tangent to the circle. £5Pn < €4

Angle PSO = 48° ()
ZMNsT = Q4

MP = MS
(Q ('éd/«sq'l‘ﬁ S'cd {'Le-mu‘_)

Work out the size of angle MST.
Give reasons for each stage of your working.

(Total for question = 5 marks)

Q13.



Diagram NOT
accurately drawn

Aand Bare points on the circumference of a circle, centre O.
ACand BCare tangents to the circle.

Angle ACB= 36°.

Find the size of angle OBA.
Give reasons for your answer.

(Total for Question is 4 marks)

Q14.



Diagram NOT
accurately drawn

41°
A T

A and B are points on the circumference of a circle, centre O.
AT is a tangent to the circle.

Angle TAB = 58°.

Angle BTA = 41°.

Calculate the size of angle OBT.

You must give reasons at each stage of your working.

(Total for Question is 5 marks)

Q15.

Diagram NOT
accurately drawn

ZAve =C4°

C°?F cs ob c_ll._(«;. ?/..,e..elJ
? ‘ ° = x = 123°

(( e ¥ cenhe gé-u‘\g.e
C. : b‘é C\(‘L)
&
A, B, C and D are points on the circumference of a circle with centre O.
Angle ABC = 116°

Find the size of the angle marked x.

Give reasons for your answer.



(Total for Question is 4 marks)
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